
l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 hgtf df=la=jfn afp)*/L lgdf{)f u(jf 1

sfnfsf^]
10,00,000.—

hDdf ?= 10,00,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd
?=

s}=

1 h'/f}gL lr;fkfgL /gl;Ë x'b} wfgvf]nf hf]*g]
s[lif ;*s :t/f]GgtL

u(jf 1 4,00,000.—

2 dndnf l/Ë /f]* af^f] u|]an / gfnL lgdf{)f
-r]tdfg s'dfnsf] #/ b]lv af]l/Ë ;Dd _

u(jf 1 4,00,000.—

3 lr;fkfgL leqL af^f] l/Ë /f]* la:tf/ tyf
lgdf{)f .
-s[lif ;*s pQ/ tkm{ gf/fo)f k'/Lsf] #/ ;Dd_

u(jf 1 2,00,000.—

4 sfnfsf^] ahf/ b]lv :s"n / vf]nf hfg]
af^f]sf] gfnL lgdf{)f

u(jf 1 1,50,000.—

5 agjf/L k"a{ ^f]n / lar ^f]nsf] af^f] u|]an /
sne^{ lgdf{)f

u(jf 1 2,00,000.—

6 /gl;Ë ad/] ^f]ndf af^f] la:tf/ tyf lgdf{)f u(jf 1 1,00,000.—

hDdf ?= 14,50,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd
?=

s}=

1 Wffgvf]nf vfg]kfgL ^+sL dd{t / 500 ld=kfI{{k
vl/b

u(jf 1 1,50,000.—

2 ^Fx*f vfg]kfgL kfO{k la:tf/,df]^/ vl/b / wf/f
h*fg

u(jf 1 1,50,000.—

3 kNnf] wf]w]| a}hfnL / l^sf xf]^]n lg/1÷1 j^f
sF'jf lgdf{)f .

u(jf 1 1,00,000.—

4 h]&fgufpFdf cf]e/x]* ^+sL lgdf)f{ kfOk nfOg
lj:tf/

u(jf 1 5,00,000.–

5 h'/fpg]df l*k af]l/ª h8fg ul/ cf]e/x]8 6+sL
lgdf0f{

u(jf 1 5,000,00.–

6 hDdf ?= 14,00,000.–

j*f g+= 1
s'n ah]^ ?= 90,00,000

1= s_ k"af{wf/ lasf; M— -?= 63,00,000.—_

v_ ;*s M—

u_ vfg]kfgL M—



l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 h]&fgufpF l;rfO{ kfOk v/Lb eNj lgdf)f{ j*f g+=

1
2,50,000.–

2 jg#';|L jgjf/L kSsL s''nf] lgdf)f{ j*f g+=
1

2,50,000.–

3 j*x/f l;rfO{ kfOk v/Lb eNj lgdf)f{ j*f g+=
1

1,50,000.–

4 tNnf] wfgvf]nf hgzlQm lgdf)f{lwg s'nf]
lgdf)f{

j*f g+=
1

1,00,000.–

5 tNnf] wfgvf]nf jLr s'nf] lgdf)f{ j*f g+=
1

1,00,000.–

6 jgjf/L l;rfO kSsL s''nf] lgdf)f{ /
kf]v/L lgsf)f{

j*f g+=
1

2,00,000.–

7 h'/fpg]sf] k"j{ / klZrd ^f]ndf :ofnf]
^o"j]n lgdf)f{

j*f g+=
1

1,00,000.–

hDdf 11,50,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd
?=

s}=

1 v]ns'b d}bfg lgdf)f{ j*f g+=
1

1,00,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd
?=

s}=

1 /ªl;ª, lr;fkfgL
,wfgvf]nf,dndnf,h'/fpg],tNnf]
wf]b|],sfnfsf^]s'gf ^f]n,snf}gL,
^x/f,klqËf,a*x/f, agaf/L,ag#';|L /
h]&fgufpF ^f]ndf kf]n / tf/ v/Lb

j*f g+=
1

55,0,000.–

hDdf 550,000.–

l;=g+
=

of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

3_l;rfO{ M—

ª_ v]ns'b M—

r_ ljw't M—

%_ :jf:YoM—



1 sDKo"^/,lk|G^/,l^=eL= v/Lb j*f g+=
1

80,000.–

2 Nofj ;fdfu|L v/Lb j*f g+=
1

1,20,000.–

3 :jf:Yo rf}sLsf] %t (nfg lgdf)f{ j*f g+=
1

1,20,000.–

hDdf 3,20,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 hgd'vL cfwf/e't ljwfno lkmN* k^fg

xf]d kfOk / jfnlsf; Joj:yfkg
j*f g+=
1

2,80,000.–

2 h]&fgufpF afnljsf; ˇofn (f]sf kNnf
km;{ zf}rfno lgdf)f{

j*f g+=
1

1,00,000.–

3 K|ff=lj=a*x/f ef}lts k"jf{wf/ lgdf)f{ j*f g+=
1

100000.–

hDdf 4,80,000.–
s+v+u+#+ª +r+%+hsf] s"n hDdf 63,00,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 h'/f}gLdf af^f] u|]an . j*f g+=1 75,000.—
2 klqËf ^f]ndf gbL hfg] af^f] u|]an tyf gfnL

lgdf{)f .
j*f g+=1 75,000.—

3 a*x/f ugfvf]n] ^f]n af^]f u|]an / ;t{
axfb'/sf] #/ g]/ Xo"dkfO{k h*fg .

50,000.—

4 ag#'>Lsf] ufpn] af^f] u|]an j*f g+=1 50,000.—
5 a*x/f af]l/Ë uNnL b]lv s'nkfgL af^f] u|]an . 50,000.—

6 ^Fx*fdf leqL af^f] u|]an . j*f g+=1 50,000.—
hDdf 3,50,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 Hf'/f}gLdf dl:hb Aoj:yfkgsf] nflu d]f^/ tyf j*f g+=1 50,000.—

h_ lzIff M—

2= k|a${gfTds k"af{wf/ lasf; ?=18,90,000.—

s_;*s M—

v_ wfld{s ko{^g , ag tyf aftfa/)f M



lxn ^+sL vl/b / ^x/fdf b'uf{ dlGb/ tf/af/
.

2 s'nkfgL wfld{s ko{^g If]qdf lkslgs :yn
lgdf{)f .

j*f g+=1 75,000.—

3 klqËf yf? ;d'bfodf d?jf Aoj:yfkg . Jf*f g==1 50,000.—

hDdf 1,75,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 snf}gLdf l;rfO{sf] nflu sfnf] kfO{k vl/b /
s"nf] lgdf{)f .

j*f g+=1 70,000.—

2 wf]w|]df 4 O{Gr a/fa/sf] 15 ld=lkle;L sfnf]
;]S;g kfO{k vl/b .

j*f g+=1 50,000.—

3 s[lif tyf kz' tflnd / s[ltd uefwfgsf] nflu
.

j*f g==1 50,000.—

hDdf 1,70,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 a*x/f klqËfsf] k'/fgf] vfg]kfgL dd{t ;Def/ . j*f g+=1 50,000.—
2 ag#>L / agjf/L bfg]kfgL kfO{k vl/b . j*f g+=1 50,000.—

3 sfnfsf^] *fF*f ^f]ndf s'jfF lgdf{)f / df]^/
vl/b .

j*f g+=1 75,000.—

4 ^Fx*f k"la{ ^f]ndf s'jfF lgdf{)f / df]^/ vl/b . j*f g+=1 75000.—
5 /gl;Ëdf 2 j^f s'jfF lgdf{)f j*f g+=1 80,000.—
6 tNnf] wfgvf]nf h}s'df/Lsf] #/ g]/ s'jfF lgdf{)f

.
j*f g+=
1

50,000.—

7 a*x/f vfg]kfgL ^+sL dd{t tyf kfO{k nfO{g
la:tf/ .

j*f g+=1 80,000.—

hDdf 4,60,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 vx/]v]fnf ,snf}gL efn'vf]nf ,w]fb|]vf]nf
,s'Gtfvf]nf, aufn] agjf/L vf]nf, lub|xf vf]nf
,k/;dk'/] vf]nf, dndnf ;fd'bflos aglhssf]
vf]nfdf t^aGwg ug{ k|lt vf]nf 10÷10 yfg
hfnL .

j*f g+=1
j*f g+=1

1,80,000.—

hDdf 1,80,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

u_ s[lif M–

#_ vfgkfgL M—

ª_ t^aGwg M

r_ lalaw M—



1 sfnfsf^]df a;kfs{ lgdf{)f j*f g+=1 1,00,000.—
3 o'jf :j/f]huf/ j*f g+=1 120,000.—
6 v]ns'b ;fdfu|L vl/b j*f g+=

1
1,00,000.—

hDdf 320,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 dndnf afn lasf; ejg dd{t ;Def/ tyf
Aoj:yfkg .

j*f g+=1 65,000.—

2 cwf/e"t laBfno ag#'>L h:tfkftf vl/b tyf
Aoj:yfkg .

j*f g+=1 2,40,000.—

hDdf 3,05,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 afnd}qL / afn clwsf/ ;DalGw uf]i&L
;~rfng .

j*f g+=1 50,000.—

2 k|To]s ^f]ndf afn Snj u&g j*f g+=1 50,000.—
hDdf 1,00,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 dlxnf :jf:Yo :jod ;]ljsfsf] nflu vfhf /
oftfoft vr{ .

j*f g+=1 81,000.—

dlxnf ;~hfn uug .
;'Ts]/L dlxnf nfO{ PDa'n]G; ef*f lgz'NsM .

lth sfo{qmd / gf/L lbj; .
g]t[Tj lasf; / /fhgLltdf dlxnf ;xeflutf .

hDdf 81,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 ckfË kl/ro—kq lat/)f / zLk d'ns tflnd j*f g+=1 27,000.—

3= nlIft au{ ?=4,05,000.—
s_ afnaflnsf M—

 laBfno ef}lts k"af{wf/ lasf; M—

afnaflnsf sfo{qmd M—

v_ dlxnf?=81,000.—

u_ ckfË ?=27,000.—



;~rfng .
hDdf 27,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 h]i& gful/s ;Ddfg sfo{qmd . j*f g+=1 27,000.—

hDdf ?= 27,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 j*f :t/Lo v]ns'b sfo{qmd ;~rfng . j*f g+=1 54,000.—
hDdf 54,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 k~r] afhf vl/b j*f g+=1 54,000.—
hDdf 54,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 a*x/ ufpFdf /x]sf] lzj dlGb/ / b]jL dlGb/df
rf}kf/L lgdf{)f .

j*f g+=1 81,000.—

a*x/fdf d?jf yfg lgdf{)f .
h'/f}gLdf /x]sf d'l:nd cNk;FVos ;d'bfodf
zf}rfno lgdf{)f tyf ;/;kmfO{ sfo{qmd
;~rfng .
hDdf 81,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 /l;Ë ^f]nsf ljkGg ju{x?nfO{ lhljsfpkf{hg
sfo{qmd

j*f g+=1 50,000.—

2 h]&fgufpF ss{tkftf vl/b j*f g+= 31000.—
hDdf 81,000.—

#_ h]i& gful/s ?=27,000.—

ª_ o'jf ?=54,000.—

r_ blnt ? 54,000.—

%_dw]zL d'l:nr lk%*f au{ ?=81,000.—

h_cflbaf;L hghftL ?=81,000.—


